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PR Witk 100mLx1 i, 4°CIRAT;
R —: WA 6mLx1 M, 4°CIRAT;
R = Wik 25mLx1 i, 4°CIRTT

HENENES:
FRELZ) 0.1g i HREBORT H8E, TN ImL 38EUGR, BTV AI%, FEIRS IR 30min, RJ5 10000g
4°CE0r 10min, HU L, Bk LA,

MRE S
1. e i BB A TN 30min PA L, K E 540nm, ZRM/KIAZE.
2. EER (FF BP BRI T FIRFD -

WAL (ul) e & o R
FEA 10 10
A — 100
7&K 100
IBA), 37°CHEMI/KIA 2h
A= 200 200
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S-C1 FEMHE:
a. AREARHEMNENTEARNT



Gom"ﬂ!igo! Lgs @‘qﬁi&

PR 1 T I E FA TN y = 6.4078x - 0.0673; x NARHESIRIE (mg/mL), y AWOGHE.

AR X B g ERERE B AR 1w g RATREE SO — NG J1 8L

S-C1 i #1(ng /min /g 8 F)=[1000 X (AA+0.0673) 6.4078xV K ]+(Wx V £V BEE) =T
=14.305%(AA+0.0673) ~W

1000: Img/mL=1000ug/mL; V [ik: MAEREAET, 0.11mL; V H: JIAFEAETR, 0.0l mL; VA

IINIREGR AR, 1 mL; T: JORIRFE], 120 ming W: FEARJRE, g;

b.F 96 FUiR I 5E Kt E AR T

Bt AE T I E [R5 FE N y = 3.2039% - 0.0673; x NARHESRIRE (mg/mL), y AWIEIE.

BATHIE X A g A B AR 1w g RATREE SO — NG J1 8800

S-C1 i #1(ng /min /g 8 FE)=[1000 X (AA+0.0673) =3.2039xV K ]+(Wx V £V BEE) =T
=28.61x(AA+0.0673) +W

1000: Img/mL=1000ug/mL; V Jik: MAEREAET, 0.11mL; V H: JAFEAETR, 0.0l mL; VLS.

IIASREGE AR, 1 mL; T: KRMEFA, 120 ming W: FEAME, g.



